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QUESTION 1

What should an administrator configure on a NetScaler to remove server-side compression and enable compression on
the NetScaler?

A. Disable the compression feature (disable ns fea cmp).

B. Enable Compress Push Packet (set cmp parameter -cmpOnPush enabled).
C. Enable Allow Server-Side Compression (set cmp parameter -serverCmp on).
D. Disable Allow Server-Side Compression (set cmp parameter -serverCmp off).

Correct Answer: D

QUESTION 2

Scenario: An administrator needs to configure a NetScaler device so that a set of back-end servers in a LAN can initiate
connections to the Internet. ACLs are configured in this environment. What must the administrator configure to meet the
needs of this scenario?

A. INAT on the servers in the LAN

B. RNAT for the destination IP addresses

C. NAT on the router to the NetScaler device

D. RNAT for the subnet that includes the LAN IP addresses

E. RNAT on the virtual servers bound to the servers in the LAN

Correct Answer: D

QUESTION 3

Scenario: An administrator has created and configured services on load balanced virtual servers. The administrator then
enabled the compression feature on a NetScaler deployment using the Configuration Utility. After adding additional
services, the administrator decides to check the Dashboard for the compression statistics. However, when looking over
the statistics, the administrator notices an extremely low count in the policy hit counter.

What could be causing the low count in the policy hit counter?

A. The administrator did not bind the services to a virtual server.

B. The administrator has not restarted the Dashboard after enabling the compression feature.

C. The administrator has failed to manually enable compression for the services created prior to enabling the
compression feature.

D. The administrator failed to bind the HTTP services to an SSL load balancing virtual server, and failed to bind the SSL
services to an HTTP load balancing virtual server.
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Correct Answer: C

QUESTION 4

Scenario: An administrator is managing a network environment that contains five datacenters, all of which are in
different areas of the same country. The administrator plans to configure the NetScaler system to load balance the
datacenters so that they can be used for disaster recovery.

How should the administrator configure the NetScaler system for disaster recovery and to optimize the user
experience?

A. Enable HA and use cache load balancing.

B. Enable HA and use server load balancing.

C. Enable GSLB and use the proximity method.
D. Enable GSLB and use the round robin method.

Correct Answer: C

QUESTION 5

Scenario: A customer logged in as a user with superuser access rights and is making configuration changes on a
NetScaler HA pair. After a few minutes, the customer notices that the changes are NOT visible on the GUI or CLI.

What is the customer doing incorrectly?

A. The customer is not using the nsroot account.

B. The customer has enabled fail safe on both nodes.

C. The customer is making changes on the primary node.

D. The customer is making changes on the secondary node.

Correct Answer: D
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